


If a train 110m long passes a telegraph pole in

cross a railway platform 165 m long, is :
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A train 700 m long is running at the speed of 72
km/hr. If it crosses a tunnel in 1 minute, then
the length of the tunnel (in metres) is
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If 2 200 m long train crosses a platform
of the same length as that of the train in
20 seconds, then the speed of the train
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(a) 50 km/hr (b) 60 km/hr (c) 72 km/hr
(d) 80 km/hr




Walking at three-fourth of his usual speed, a man
covers certain distance in 2 hours more than the
time he takes to cover the distance at his usual
speed. The time taken by him to cover the

distance with his usual speed is:
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(a) 4.5 hours (b) 5.5 hours (c) 6 hours (d) 5 hours
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Two trains started at the same time, one from A to

B and the other from B to A. If they arrived at B and
A respectively 4 hours and 9 hours after they passed
each other, the ratio of the speeds of the two trains
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A train of 320 m cross a platform in 24 seconds at the
speed of 120 km/ h. while a man cross same platform in
4 minute. What is the speed of man in m/s?

320 HICX ®] Teh ¢ 120 fdhHI/HeT &t Tid Y 24 s
T Toh WchIH UR dl 8| Saie U SHTemt 39!
RIchIH & 4 iFe # IR &l g1 U3 DI 1 m/s 7

(a)24(b)15(c)16(d)20




A car travels a distance of 75 km at the speed of 25 km/h.
It covers the next 25 km of its journey at the speed of 5
km/h and the last 50 km of its journey at the speed of 25
km/h. What is the average speed of car?
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(a) 15 Km/h (b) 12.5 Km/h (c) 40 km/h (d) 25 km/h
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Two trains of equal length take 10 seconds and 15
seconds respectively to cross a telegraph post. If the
length of each train be 120 metres, in what time (in
seconds) will they cross each other travelling in
opposite dlrectlon?
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(a) 16 sec (b) 15 sec (c) 12 sec (d) 10 sec
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Two trains are moving in the same direction at 50
km/hr and 30 km/hr. The faster train crossed a man
in the slower train in 18 seconds. Find the length of
the faster train?
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(a) 80 m (b) 90 m (c) 100 m (d) Can’t be determined




A man standing on a railway platform observes
that a train going in one direction takes 4 seconds
to pass him. Another train of same length going in
the opposite direction takes 5 seconds to pass
him. The time taken (in seconds) by the two trains
to Cross each other will be .]

¢ fb T

qd
fe=m o S 38! ¢ dHtrr\fﬂerfr @‘_s’é?ﬁ%l
Rudta fa=m & S Xe 9a dars 3 é‘rr
B@Wc_{e{fw@__éa?ﬂ%liﬁ:ﬁ & Uh-
%m% P! UR B H @ dIdl ﬂm'r(%‘—éfr

Ydd Weh R W3] T 5 AIGH] T
4

(3) 31/ 9 (b) 40/ 9 (c) 49 /9 (d) 50 /9

ol




Two trains of equal length take 10 seconds and 15
seconds respectively to cross a telegraph post. If the
length of each train be 120 meters, in what time (in
seconds) will they cross each other travelling in

same direction?
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A train crosses a pole in 10 seconds and a platform, which
is 40% longer than the length of train in 24 seconds. If the
Iength of platform is 140 m, what is speed of the traln?
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36 m/s (b) 5 m/s (c) 10 m/s (d) 15 m/s

°I S

AT 21 afe
St R 82 (a)




A train running at a speed of 40 m/s crosses a pole in
21 seconds less than the time it required to cross a
bridge 3.5 times its length at the same speed. What is

the length of the bridge?
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(a) 1080 m (b) 240 m (c) 840 m (d) 560 m




Two trains A and B start at the same time from Delhi and
Patna respectively towards each other they met after 16
hours. If the distance between Delhi and Patna is 1872 km
and train B runs 27 km/h faster than train A what is the

%seed of train A?
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(a) 45 km/h (b) 72 km/h (c) 48 km/h (d) 60 km/h




If a train runs at 40 km/hour, it reaches its
destination late by 11 minutes. But if it runs
at 50 km/hour, it is late by 5 minutes only.
The correct time (in minutes) for the train to
complete the journey is
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